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Examples of the Standard Error (of the Mean)

Notes

1/4/2010

mu ( ) = 150

Pop SD ( ) = 10

x /n 10.00 3.16 2.24 1.58 1.29 1.12 1.00 0.32

x 1 10 20 40 60 80 100 1000

130 0.0054 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000

131 0.0066 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000

132 0.0079 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000

133 0.0094 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000

134 0.0111 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000

135 0.0130 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000

136 0.0150 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000

137 0.0171 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000

138 0.0194 0.0001 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000

139 0.0218 0.0003 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000

140 0.0242 0.0009 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000

141 0.0266 0.0022 0.0001 0.0000 0.0000 0.0000 0.0000 0.0000

142 0.0290 0.0051 0.0003 0.0000 0.0000 0.0000 0.0000 0.0000

143 0.0312 0.0109 0.0013 0.0000 0.0000 0.0000 0.0000 0.0000

144 0.0333 0.0209 0.0049 0.0002 0.0000 0.0000 0.0000 0.0000

145 0.0352 0.0361 0.0146 0.0017 0.0002 0.0000 0.0000 0.0000

146 0.0368 0.0567 0.0360 0.0103 0.0025 0.0006 0.0001 0.0000

147 0.0381 0.0804 0.0725 0.0417 0.0208 0.0097 0.0044 0.0000

148 0.0391 0.1033 0.1196 0.1134 0.0931 0.0720 0.0540 0.0000

149 0.0397 0.1200 0.1614 0.2066 0.2289 0.2392 0.2420 0.0085

150 0.0399 0.1262 0.1784 0.2523 0.3090 0.3568 0.3989 1.2616

151 0.0397 0.1200 0.1614 0.2066 0.2289 0.2392 0.2420 0.0085

152 0.0391 0.1033 0.1196 0.1134 0.0931 0.0720 0.0540 0.0000

153 0.0381 0.0804 0.0725 0.0417 0.0208 0.0097 0.0044 0.0000

154 0.0368 0.0567 0.0360 0.0103 0.0025 0.0006 0.0001 0.0000

155 0.0352 0.0361 0.0146 0.0017 0.0002 0.0000 0.0000 0.0000

156 0.0333 0.0209 0.0049 0.0002 0.0000 0.0000 0.0000 0.0000

157 0.0312 0.0109 0.0013 0.0000 0.0000 0.0000 0.0000 0.0000

158 0.0290 0.0051 0.0003 0.0000 0.0000 0.0000 0.0000 0.0000

159 0.0266 0.0022 0.0001 0.0000 0.0000 0.0000 0.0000 0.0000

160 0.0242 0.0009 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000
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Standard Error of the Mean - Note: As sample size n 
gets larger, the mean's variation gets smaller. This 
makes sense  since we're sampling more of the 
population which  results in less variation and our 
calaculation becomes more accurate!
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